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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
Part A 11866 13.6 3.6 23 59 100
Part B 11866 11.2 3.6 23 48.7 100
Part C 11866 7.5 2.3 14 53.6 100
SPaG 11866 2.8 0.8 4 71 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Examiner

(ii)	 Suggest how changes in technology have contributed to an increase in commuters 
living in rural areas like the Peak District National Park, in recent years.	 [2]





0

Sticky Note
This candidate gained no credit as the response is vague.  It needs to be more specific about what technology is involved and why it has led to an increase in commuters.





2

Sticky Note
The candidate scored 2 marks because the technology/route networks are clearly identified.  The ability to work during the journey making more efficient use of time is important to many commuters.
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(iii)	 Suggest two reasons why the Peak District National Park is a popular tourist area. 
Support your answer with evidence from the OS map and photograph.	 [4]

© WJEC CBAC Ltd. Turn over.
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Sticky Note
The candidate scored 3 marks. They have identified two separate pieces of map evidence but only elaborated one reason as to why this is a popular tourist area.  What would be a suitable elaboration for a fourth mark?
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Sticky Note
The candidate scored zero.  The response is too vague.  What would they have to do so they can get 4 marks here?
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(ii)	 Changes in employment structure in the Peak District National Park are similar to 
those across the UK as a whole.
Explain why employment structure in the UK is changing.	 [4]

© WJEC CBAC Ltd. Turn over.
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2

Sticky Note
This candidate has scored 2 marks as they have explained two reasons for changes in employment structure. What two other reasons could be used to gain the full 4 marks?





0

Sticky Note
The candidate scored zero.  They have used the correct terms but have described changes, not explained them.  They have not read the question properly. They need to explain the economic and development changes they mention at the end. 
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(ii)	 Describe the possible negative effects of the change in house prices in the Peak 
District National Park on local people.	 [4]

(iii) Around half of the adults who live in the Peak District National Park travel to work 
outside of the National Park.

Describe the possible benefits that commuters could bring to village life in the 
National Park. [4]





4

Sticky Note
The candidate uses the idea of outsiders buying second homes causing house prices to rise.  They then identify three impacts on local people to give a total of 4 marks.  A very good answer.





0

Sticky Note
The candidate scored zero.  The ideas are sound but how could the answer be re written so that it gains 4 marks.





0

Sticky Note
The candidate scored zero. Do they really understand what commuting is?  How could the answer be re written so that it scores four marks?





2

Sticky Note
This candidate scored 2 marks as they have identified and elaborated one benefit. How could they have gained 2 more marks?  What could be another benefit?
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UNIT 4242/04 – Unit 2 Section B Higher Tier 


Part A 


Question Rationale Expected answer 
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Part A:  introduces the Peak District National Park 


(ii) Suggest how changes in 
technology have contributed to 
an increase in commuters 
living in rural areas like the 
Peak District National Park, in 
recent years. 


Credit one simple point about technology 
and its elaboration. 


Response must be linked to commuting. 


More efficient transport / new or improved 
transport links [1], makes urban centres more 
accessible for commuters [1].  
Wifi / laptops / ipads enable people to 
work/communicate on trains [1] reducing times 
needed in the office[1] 


1 1 2 (a) 
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(iii) Suggest two reasons why 
the Peak District National 
Park is a popular tourist 
area. 


Support your answer with 
evidence from the OS map 
and satellite image.  


Credit one mark for each valid reason 
and / or a further one mark for a clearly 
described piece of map or image 
evidence for each reason given. 


Do not credit transport links. 


Map evidence:  Places for visitors to stay [1] public 
houses / camp / caravan sites (1) GR  
1683/1782/1883/1982 or named location, e.g. 
Hardhurst farm for GR 1982 [1] 


Help provided for tourists to enjoy area [1] visitor 
centre in Castleton Village [1] 


Natural visitor attractions [1] Speedwell Cavern [1] 


Built visitor attractions [1]  Peveril Castle remains 
[1] 


Image evidence:  A good walking / hiking area [1] 
open countryside / footpaths [1]  


2 2 4 
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Question Rationale Expected answer 
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(ii) Employment changes in the 
Peak District National Park 
are similar to those across 
the UK as a whole.   
Explain why employment 
structure in the UK is 
changing. 


Credit reasons for change only.  Do not 
credit description of change. 


The question is about employment 
structure, not changes to one 
employment type, so max 3 marks if only 
one sector of the economy is discussed. 


Employment in farming has decreased 
because...mechanisation (1) reduces need for 
manual farm labour (1) increased farm 
size/economies of scale (1). 


Employment in manufacturing has decreased 
because...mechanisation (1) UK firms opening 
plants abroad/shifting production overseas (1) 
cheap imports (1). 


Employment in quarrying has decreased because... 
mechanisation (1) cheap imports of stone/coal from 
abroad (1). 


Employment in tourism has increased 
because...greater demand (1) consumers have 
more spending power (1) more leisure time (1). 


Employment in tertiary / quaternary jobs has 
increased … due to higher levels of education (1). 


4 4 


(c)  Study the employment information on page 6 of the separate Resource Folder. 
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Part B 


Question Rationale Expected answer 
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(a) (ii) Describe the possible 
negative effects of the 
changing in house prices 
in the Peak District 
National Park on local 
people. 


Credit one mark for each simple 
descriptive point and one for each 
elaboration. 


OR credit one simple statement that is 
then fully elaborated 1 + (1+1+1) 
Max 2 for simple statements. 


Locals can’t afford the high prices [1] so must 
leave the area [1] breaking up family/social 
structures [1]. 


Influx of commuters/retired former urban 
dwellers breaks social structure of area [1] 
results in closure of village shops/services [1] 
and increases travel costs/time to access 
these [1]. 


1 3 4 


(iii) Around half of the adults 
who live in the Peak 
District National Park travel 
to work outside the 
National Park. 
Describe the possible 
benefits that commuters 
could bring to village life in 
the National Park 


Credit one mark for each simple 
descriptive point and one for each 
elaboration. 


OR credit one simple statement that is 
then fully elaborated 1 + (1+1+1) 
Max 2 for simple statements. 


Influx of young commuter families help to 
keep schools open [1] saving travel cost/time 
[1]. 


Bring new money into the village [1] keeping 
pub/restaurants open [1] allowing a continued 
focus for village life [1]. 


Broadens village social structure [1] making 
the focus of village life less insular [1]. 


1 3 4 
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